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Identify the domain and range of each.  Then sketch the graph.

1)  y = log 6
(x − 1) − 1
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Find the inverse of each function.

2)  y = ln (x + 8) − 5 3)  y = −10 ln (4x)

4)  y = −10 ln 4x 5)  y = −3 ln x4

Expand each logarithm.

6)  log 2 ( ab2)3 7)  log 8
(113 3

10)

8)  log 3 (a4

b )5

Evaluate each expression.

9)  log 2 8 10)  log 2 64

11)  log 5 25 12)  log 7 49



©X H2O0q2]2B ZK_uhtNap BSQo^fQtXwOaOrDeW rLELLCx.i B DARlplt FrZi`gvhEtrsN SrSeBshedrHvFeedw.d g bMiafdgeI RwqietZhM yIWnffpilnCiRtqeV RPCrFeWcnaHlOc\u]lKuas`.

Worksheet by Kuta Software LLC
-2-

Solve each equation.

13)  log 8 x − log 8
(x − 3) = log 8 67 14)  log 3

(x + 7) − log 3 5 = 3

15)  log 3
(x − 6) − log 3 x = 3 16)  log 5 −4x + log 5 10 = 3

17)  log 3 x − log 3
(x − 5) = 1 18)  7 ln (r − 9) = −7

19)  ln −9b + 4 = 2 20)  ln 6b + 10 = 10

21)  −5 ln (m − 6) = −5 22)  log (−5n − 6) = log (6 − 2n)

23)  log (−5v − 3) = log (9 − 3v) 24)  log (−b + 7) = log (−4b − 7)

25)  log (−3k − 1) = log (5k + 7)

Solve each equation.  Round your answers to the nearest ten-thousandth.

26)  13n − 7.7 + 8 = 32 27)  −6.1 ⋅ 5a + 4 = −5

28)  −2en − 10 = −40 29)  −5e7v = −40
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Identify the domain and range of each.  Then sketch the graph.

1)  y = log 6
(x − 1) − 1

x

y
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8 Domain: x > 1
Range: All reals

Find the inverse of each function.

2)  y = ln (x + 8) − 5

y = ex + 5 − 8

3)  y = −10 ln (4x) y = 
e
−
x

10

4

4)  y = −10 ln 4x

y = log 4 e
−
x

10

5)  y = −3 ln x4

y = (e− x3)
1

4

Expand each logarithm.

6)  log 2 ( ab2)3

3 log 2 a − 6 log 2 b

7)  log 8
(113 3

10)

3 log 8 11 + 
log 8 10

3

8)  log 3 (a4

b )5

20 log 3 a − 5 log 3 b

Evaluate each expression.

9)  log 2 8

3

10)  log 2 64

6

11)  log 5 25

2

12)  log 7 49

2
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Solve each equation.

13)  log 8 x − log 8
(x − 3) = log 8 67 {67

22} 14)  log 3
(x + 7) − log 3 5 = 3

{128}

15)  log 3
(x − 6) − log 3 x = 3

No solution.

16)  log 5 −4x + log 5 10 = 3 {− 25

8 }
17)  log 3 x − log 3

(x − 5) = 1 {15

2 } 18)  7 ln (r − 9) = −7 {9e + 1

e }
19)  ln −9b + 4 = 2 {− 1

9e2} 20)  ln 6b + 10 = 10 {1

6}
21)  −5 ln (m − 6) = −5

{e + 6}
22)  log (−5n − 6) = log (6 − 2n)

{−4}

23)  log (−5v − 3) = log (9 − 3v)
{−6}

24)  log (−b + 7) = log (−4b − 7) {− 14

3 }
25)  log (−3k − 1) = log (5k + 7)

{−1}
Solve each equation.  Round your answers to the nearest ten-thousandth.

26)  13n − 7.7 + 8 = 32

8.939

27)  −6.1 ⋅ 5a + 4 = −5

−4.1236

28)  −2en − 10 = −40

12.9957

29)  −5e7v = −40

0.2971


